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1. The median BE and AD of a triangle with vertices

A(0, b), B(0, 0) and C(a, 0) are perpendicular to

each other if :

1 : 2
(1) a:E 2) bod
2
@ ab=1 @ o138

- If the system of equations 2x + 3y + 5 = 0,
x +ky+5=0, kx - 12y — 14 = 0 be consistent,

then the val_ues of k are —

(1) 2
5 12 ® 1
5 5

3) 4
_6’ ..I.Z_ ( ) 63 E
5 5

- Integrating factor of the differential equation
2\ dy .

1-x" J—-xy=1 is-

( )dx Y

1) -x 2  -x

® m 12 é—log(l-xz)

¥ 1 1
If A:[l ]],thenA“’“isequaltoh

) 2¥A
4 299A

@y 2"
(3) 100 A
- Two forces P and 2P act on a particle at 120° to

each other. Then the resultant makes an angle with

the direction of force P is —
1) 60° (2) 30°
(3) 90° ) 45°

Page 2 of 32

1. v st &1 Aiftadd BE dem AD # qerr o

A(0, b), B(0, 0) @11 C(a, 0) &1 BE @ AD

U TN @ oraaq s8Rt afe
1 2
™ b @  _a
2 2
@) ab=1 @ L_s b

. I TP 2x + 3y +5=0,x + ky + 5 =0,

kx — 12y — 14 =0T &1 G 281, @l k &7 99
BT —

(1) 2 '
g 12 ® 1
5 5

3) 4

HHIBT OTPH & —
1) -x 2 -x
: 1-x*
3 4
® fiz @) %log(l-xz)

' afe A:E i]s‘r ar A'% &7 719 81 —

) 29A
4) 299A

1 2%
3) 100 A

. it fis R PRIvG <7 9a P 7o 2P UB R

& 1T 120° BT PIOT G910 & ol SABT GROmH
qel, P& 1y fbadr Hior g=aa?

(1 60° (@) 30°
) 90° (@) 45°



6.

10.

1.

OZRV

Given —
x[0]1 |2 |3 |4
y 4|8 [15]7 |6

then the value of :x_y at x=0 will be equal to —

(1) ~13.5
3) 0

(2) 275

4) 57.6667

Basic feasible solution of an LPP is called
degenerate BEFS, if -

(1) Atleast one basic variable 1s zero |

(2) All basic variables are zero

(3) None of the basic variables is zero

(4) None of these

Which of the following number is rational?
(1) sinl5° (2) cosl5®
(3) sinl15°cosl15° 4 sinl5° cos75°

the
fundamental assumption that the data can be

Interpolation formulae are based on

expressed as -

(1) A linear function

(2) A quadratic function

(33) A polynomial function

(4) None of these

Every extreme point of the convex set of all

feasible solutions of the system AX =bis a -

(1) Feasible solution (2) Basic feasible
solution

(3) Optimum solution (4) None of these

A bag contains 3 black, 4 white and 2 red balls.

The number of selections of at most 6 balls

containing balls of all the colours is:

(1) 424! 2) 26x41
(3) (2%-1)x4! (4) None of these

10.

11.
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x |01 [2 [3 [4
vy |48 |15]7 |6

dy

o x=0 W —= T 79 BN —

X
(1) —-13.5 2) -27.5
3) 0 4) 57.6667

. U LPP &I MR FHTA &l AT TR

T & deand B, afe —

(M) FH A B T AT AW LA &
@) W MR TR I B

@) B W TR T I DI Bl
@ 3T 9§ B TE

- 7 A | a1 e aReg 2?

(1) sinl5° (2) cosl5®

(3) sinl5° cosl5® 4) sinl5° cos75°
A A 0 ST AT WR SR 8
5 Ser @1 yehia & smar & —

(1) Rad werT d

@) feam wer H

(3) dgue ward H

@) 3T 9 BIg TE

ferr AX =b @& Wil gEId gl & A9
[T BT YAS o< fdwg Bl & —

(1) FgEId &l @) IR GEId
(3) g<aq &l @) 39 BIS TE
TH 47 H 3 Brell, 4 B dAT 2 el I & |

3ifraam 6 Il @1 gAmE, Rorad i Tl B A
&1, foes upR & far S Adar 87 '
(1) 42x4! (2) 25x4!

(3) (2°-1)x4! @) 3T | BIg L



12.

13.

14,

15.

16.

17.

OZE"

The number of elements in the set :
{(a,b):2a>+3b>=35;a,b € Z} where Z is the
set of all integers, is:
1 2
3) 4

(2) 8
4 12

For Bernoulli distribution with probability p of
success and q of a failure, the relation between
mean and variance is —

(1) Mean < Variance (2) Mean > Variance

(3) Mean = Variance (4) Mean < Variance

A large solid metallic cylinder whose radius and
height are equal to each other is to be melted and
48 identical solid balls are to be recasted from the
liquid metal so obtained. What is the ratio of the
radius of a ball to the radius of cylinder?

I3 1:16 2 1:12

3 1:8 4 1:4

Which interpolation formula does not have any
difference operator?

(1) Newton — forward Interpolation formula
(2) Bessel’s Interpolation formula

(3) Stirling’s Interpolation formula

(4) Lagrange’s Interpolation formula

The co — efficient of X" /in [E _%]'0 is —
B |

(1 406 (2 504

256 259
3 450 4 806

263 456
In which ratio does the line y — x + 2 = 0 divide
the line joining the points (3, -1) and (8, 9)?
a 1:2 @ 2:1
3 2:3 @ 3:4

12.

13.

14.

15.
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HHead {(a, b): 2a2+3b%=35;a,b e Z} STl
Z ot GARI BT WYy B, © AaIal Bl AT
grft:
1 2
3 4

2 8

@ 12

U gHlell §¢9 H p 9 q A AHodl g
IRIHETAT B WIRIHAT BT USRI &=d &, af 39
dod H AT 9 URUT & Hed Rl sRT—

(M) wrg < gERoT @) Arm > gaxor

3) \rg = yuroT @ Arg < gEROT

U 3 1g @ 93 9o, et Boar g S
T €, B fEerax 48 BIS el # gRafda
faam | e T g dere @ Broar @1 3
w1 BRTT?

1 1:16 2) 1:12

3 1:8 @ 1:4

1 % | B — | IIdYE A H IR APRD
(operator) Ya T8l BIAT?

(1) =T UG A

@) e I G

@) wefefr arade™ 3

(d) TS AIGY G

10
G—%] & faaR ¥ x* BT NS B —

(1) 406 @) 504
256 259
@) 450 @ 806
263 456

- 71 fawgait (3,-1) @ (8, 9) @1 e arel Xar

Pl RS T y—x + 2 =0 {57 argura # Hrecht
27

M 1:2
3 2:3

2 2:1
4 3:4



18.

19.

20.

21.

22,

OZE"

2

If 3x)2{+sin x=0 , then the solution of this

differential equation is -
(1) y=sinx-+-C| X + C2
(2) y=cosx+cix*+c
(3) y=tanx+c
4) y=logsinx+cx
2 12
For the curve — -— =1, the asymptotes parallel
X" ¥
to y - axis are —
M x==*b (2 y==*a

(3) x=+a @ x=a+b

If a+b+c=0 and |d|=~/37, |b]=3, [C|=4
then the angle between Dand G is:

(2) 45°

@ 90°

1 30°
3 60°

A problem in mathematics is given to four

students A, B, C and D whose chances of solving

| 1 1
it are E’%’Zandg respectively. What is the
chance that the problem will be solved?
@ 1 2) 1
120 15
3 119 @ 4
120 5

If the m™ term of HP be n and n" term be m then

the ' term will be :

§)) mn @ r
T mn
3) ‘mn. ) mn
r+1 r-1

18.

19.

20.

(M 30°

21.

22.
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2

R %x—yﬂi"xzo 21, 1 39 JraHeE AHIEROT

2

H FA B —

(1) y=sinx+cix+c
(2) y=cosx+cix>+c2
(3) y=tanx+¢

(4) y=logsinx+cx

2 2
%-%:1&‘3%\7);-31&1?%@%?
X"y

3y it B —

1) x==b 2 y=zta

B3 x=xa 4 x=a+b

af d+b+c=0 wem |d|=+/37,b|=3,
E]=4 @ b ok C @ = BT & :

(2) 45°

3 60° @ 90°

aforg @ v geT @R faenfiEi A, B,Cd D
F & T RS 3P B by B Wi

PHHL: l,l,lal |y P A BH B A
2’3’4 5

Tifmar grfe

m 1 @ 1
120 15

@ 119 @ 4
120 5

If v HP &7 m df & n & 3R n d9f 98 m
'E"\f,?ﬂ'rachﬂﬂs[m:,

1) mn 2 T
r mn
3) mn @ mn
r+1 r-1



23.

24,

25.

26.

27.

02&7

b+c a+b a
The value of determinant [¢c4a b4 ¢ blis
a+b c+a c
equal to —
(1) abc(a+b+c)
2) 0

G (a+b+c)(b*-c?—2a?)

@) a*+b* + ¢* — 3abe

Assessment for learning uses the ideas of —
(1) Summative Assessment

(2) Formative Assessment

(3) Norm Referenced Assessment

(4)  Assessment of learning

A particle starts at the origin and moves along the
X — axis in such a way that its velocity at the point

dx 2
(x, 0) is given by the formula @ = cos” wXx.Then

the particle never reaches the point on —
(1) (2) 3

x—_—}- X =—
4 4
3) 4 x=1

xX =

b | —

If z = x + iy then area of the triangle whose
vertices are z, izand z+ iz is :

M 2|z N, |

@ |zp @ 3

In how many ways can 15 members of a council
sit along a circular table, when the secretary is to
sit on one side of the chairman and the deputy
secretary on the other side?

(1) 24 ) 2x15!
3) 2x12! (4) None of these

23.

24,

25.

26.

27.
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b+c a+b a
AR cra bic b|® AFE —

a+b c+a ¢
(1) abc (a+b+c)
2) 0
@) (a+b+c) (b2 -c?-a?)
@) a’+b’+c? - 3abe

AT & o smwern R gfedmor @
TN FRAT B 98 § —

(1) ITHE ATher

) TEAHD IMMpe

@) "79F e / Geffa e

4) AR BT BT

U fies i @ favg & umw @1 x - e @
W §9 96R T axen 8 & fag (x, 0) W
T AT %zcosznxﬁﬁ@ﬁ%“,ﬁffﬁ%

=t g = Hf T o -

1) 1 (2 3
X=— X==
4 4
3 1 @ x=]
X=—
2

a%z=x+iy,ﬁ%ﬁ'ﬂﬁmﬁ%ﬁﬁ‘<‘ﬁé
Qg z, iz @A 2+ iz &, HT &=wer B0

(M 2|zf @ 1 ,
pd 4
2

3 2 4

A |z| “) élzlz

U HHC B 15 W U JeABR Ao & °Ri
W fball TRE & 98 g ¥, wafs aener 3
U9 TR% AT 9o qud @~ ) afg daor
817

1 24
(3) 2x12!

) 2x15!
@) 3T 9§ PIE T



28.

29.

30.

31.

32,

33.

02‘%’

im @ -b*

x—»0 Cx-l

" ufy
0 —
. b

(3) log(ab)

is equal to:

@) s
log| —
a

4) log(a+b)

b b
Iftan x=—,then |2*P . [27Pisequalto:
a a-b a+b
(1)  2sinx (2) 2cosx
vsin2x Jcos2x
(3)  2cosx @) 2sinx
Vsin2x \cos2x

The number of values of k, for which the system "

of equations: (k + 1) x + 8y = 4k and
kx + (k + 3)y = 3k — 1 have infinitely many

solutions, is -

1 o0 () 1

3 2 (4) Infinite
IfA={1,4},B={2,3},C={3, 5]} then (A x B)
M (A x C)is equal to —

1 {(1,3),(4,3)} @ {(1,3), (2,5}

(3) 1(1,3),(1,5),(2,5} (4 None of these

A card is drawn from a well shuffled pack of 52

cards. A gambler bets that it is either a heart or an
ace. What are odds against his winning this bet?

M 9:4 2) 4:9
() 35:52 @.1%3

If p, p+4, p+14 all three numbers are prime. How

many different values can ‘p’ take?
m 1 2 2
3 3 4 4

28.

29,

30.

31.

32.

33.
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X X
im a -b
x—0 e"_l

(1) a
log| —
b

(3) log(ab)

BT AN B

(2) b
log| —
a

@ log(a+b)

af tan x=2 &, @ EP_FJ}‘E IR BT

a a-b a+b

(1)  2sinx (2) 2cosx
\sin2x Jeos2x
(3)  2cosx. 4)  2sinx
Vsin2x Jeos2x

il & e (k+ 1) x + 8y =4k T@
kx + (k+3)y =3k — 1 & 3 &af 89 & forg k
& A BTt el —
(1 o

3) 2

2) 1

(4) 3+

gfe A={1,4},B={2,3},C={3,5} &1 ar (Ax
B) M (A x C) &1 A 8FIT —

(1) {(1,3),(4,3)} @ {(1,3).2,5)%}

@B) {(1,3).(1,5),25)) @ T 9§ BIg el
sred) oRE W W g a1Y & 52 ual A 9 U
aTer @t ach ferell € | T S W S
2 f% gg war A 1 U BT 9 AT SIBI BT
Sl & et St @ fager § wamTu €
(1 9:4 @ 4:9

(3) 35:52 @ 1:3

afe p, p+d, pr14 & ST H@g @, dl
p%%ﬁﬁfﬁﬁﬂﬁﬁﬁ?

(1 1 ) 2

3 3 @ 4



34.

35.

36.

37.

UZF-L"

Who was the Propounder of five steps approach

of Lesson Planning?
(1) Herbart (2) Crowder

(3) Bloom (4) Bossing

A question was asked in Unit Test of Mathematics
that —

In the expression 4x’ + 17y, the coefficient of y is

The question assess -
(1) Knowledge (2) Understanding
(3) Application (4) Analysis

The Newton — Cotes formula

L nh[“ CoYot+"Ciy1+"Carys +.:....+“C“y“];
for n= 2 gives -

(1) Trapezoidal rule
2

: 1
Simpson’s 3 rd rule

A ..
Simpson’s g—th rule

(4) Euler — Maclaurin rule

If a, B are the roots of the equation
ax* + bx + ¢ = 0, then the equation whose roots are

l .
cz+l and f+— is:
o

(1) acx*+(a+c)bx+(a+c)=0
) abx*+(at+c)bx+(at+c)=
(3) acx*+(a+b)ex+(a+c) =0

(4) None of these

34.

35.

36.

37.
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e AT @ Ufd IS SUNTH B Fadd DI
oy?

(1) &ae 2) B

@) @ @) Ry

T @ U ghTs TREl § uee gt T fh
@SP4+ 17y H y BT IOE 2 ovnl?

(a) 3 (b) 2 (c) 17y (d) 17
A8 U HeAih Al & —

(1) S B (2) 37gare B
() TN BT @) fageyor &1
e — PIeE A -

Iznh[“CUyUJr“C,pr" C,yy, +......+“C,1yn];
n=2® fog <ar & —
(1) chsgsa fFraq

@) -
- Wm%mﬁw

O Roe w1 2t
@) IR — AFaRE e
afg o, p fEard Fexor ax? +bx +c=0 & 7
2, a1 98 Tiawer s gl a;é@' B+El£ g,

B

(1) acx’+(a+c)bx+(a+c)}=0
) abx*+(a+tc)bx+(a+c)P=0
(3) acx*+(at+tb)ex+(a+c) =0

@) g W B TR



:38. In binomial expansion of (a—b)", n>5, the sumof  38. (a—b)".n>5, % fgug fvar # 5 4 vd 6 9 U<l

the 5™ and 6™ terms is zero. Then B equal to — BT AT Mg gl ar 2 F1 | Bn T —
b b
(. -5 € med M n-5 @ n-4
6 5 6 el
@ 3 @ 6 @ s @ 6
n-4 n-5 A 15
39. Which of the following is a null set? 39. fa=r § & pie a1 Rad Gz 87
M {x:|x|<l,xeNj (M {x:|x|<1,x eN}
@ {x:|x|=5xeN} @ {x:|x}=5,x € N}
@) {x:x*+2x+1=0,x € R} @) {x:x*+2x+1=0,x € R}
@ {(x:x*=1,xeZ} @ {x:x*=1,xeZ}
40. 4 o _ 40. 4 ,
sin 0 :-gand 0 lies in the third quadrant, then sin 0 e gorr O R Tgerty # Rem g, @i
0 . 0
cos— s equal to : cos @ | BRI
™ 1 ® 1 W 1 ® 1
Js5 Vs J5 J5
@ \F @ @ @
5 \s 5 Vs
41. The number log> 7 is - 41. TET log,7 & —
(1) An integer (2) A rational number () i @) uRFa G
(3) An irrational (4) A prime number (3) uR#a e ) IS /AT

number
42. Solution set of x = 3 (mod 7), p € Z is given by: 42. x=3(mod7),p € Z% FH=Id PI g AT
@ {3} @ (Ip-3:peZ) ST B
@) {Ip+3:peZ} @ Noneofthese M {3} @ {Ip-3:peZ}
@) (Ip+3:pezZ} @ T A E TE

02 ‘%’ Page 9 of 32



43.

44.

45.

46.

47.

D2E"

Two light strings support a weight W kg and are
inclined to the vertical at angles 30° and 60°. Then
the tensions in the strings are —

1 2 Y
(1) i W,l - (2) ﬁ VoW
2 2
3 f3 w ! (4) None of the these
2 2

The solution of second order difference equation

Pns2 '(l +a)pn+l +ap, :0! n=>01is-

D p,=(1-a)a" @ p,=(1+a)a"
@ p=(+a?)a" @ p =(2+a)a"
Following are the stages of Project Method in

Teaching of Mathematics without any logical
order —

a. Choosing and purposing the Project

b. Executing the Project

c. Providing a situation

d. Planning of the Project

e. Recording of the Project

f. Evaluation of the Project

Out of the following which alternative shows
correct sequence of the above mentioned stages of
Project Method?

(1) abcecdef (2)
3) cadbfe

becdefa
4 cadbef

If | 2x — 3 | <|x + 5| then X belongs to —~
M (-3,5) @ (5,9)

3 2 4
3) [—:-.8] 4) [—8,3)
3 3
If z is a complex number, then (z)'(z) is equal to :

(m 1 2) -1
30 (4) None of these

43.

44,

45.

46.

47.
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W fb. 7. @1 U IR @ Tod uF P WER
SICHT AT & il o gaq N@T @ WTRf 30° 3R
60° T PIVT g1 & ar &l § T 2 —

1 2
(1) ﬁW,%W (2) —?W,W

3)
g L
2 2

fgd 3ifSy araw |Hiaor

Posa-(1+a)p,, +ap, =0, n>0 &7 &al & —

1) pn=(l-a)a" (2) pn:(1+a)an

®) pn=(1+az)a“ @ p =(2+a)a"
ot Rreror § urioEr AR @ Jue [
aifed 9 B A ST & —

a. ISide &1 A1 AR IeT TI DAl

b. UIoide &1 fharaas
C.WWW

d. UIoTde B HIRET TR HIAT

e. loide &l 3rferg=
f. YISige &1 Hqeaie

@ T | BIE T8l

F=faRad 7 9 s fAwey diviee fafy &
QURIGT SoollRad | &I el aifdbd Ha
<9Il J@T &7

(I abcdef (2) bcdefa

(3) cadbfe 4 cadbef

afe |2x=3|<|x+5|qa x GHEfg & —

M (-3,5) ) (5,9

JEO e

3 '3
af} z s wftas w2, @ (2)'(z) @1 5
BITT :
1 1
3 0

@ -1
@ 37 A IS T8l



48.

49.

50.

GZR”

Let f be a function defined on the interval

[0, 1] as f(x) = {

Then f is -

0, if x is rational
1, if x is irrational

(1) Not R — integrable on [0, 1]
(2) R —integrable on [0, 1]
(3) May or may not be R - integrable on [0, 1]

(4) None of these

Let ABCD be the parallelogram whose sides AB

and AD are represented by the vectors

2i + 4} ~5k and i+ 2] +3k respectively. If a is

a unit vector parallel to AC, then A is equal to:

D 16 g-ak) @ 16 Gead)
3 3
P leigai)  C Cbivgeak)

The variance of first n natural numbers is :

M 24 @ .
12 12

@ (n41) @ o
12 8

. To obtain the non —degenerate BFS of an

mxn transportation problem, the number of

occupied cells should be -
(1) Equaltom+n-—1
(2) Lessthanm+n—1
(3) Equaltom+n+1

(4) More thanm +n+ 1

48.

49.

50.

51.
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Ife weld £ 3raxet [0, 1] W 7174 9aR 4

S _(0,afe x aRma 2
5 f)= {‘l,uf?:xsrtrﬁm%’*

A f |ga T [0, 1] 0% —

(1) QFH FHIGANT B §

@) JFH FHANT ©

(@) A FEBT B el B, el Al
@) 3 | B AL

HTT ABCD Ut GHIMTIR agol & foraed! Yoi
AB d AD w®ue @Rt 2i+4)- Sk e

1243k ¥ Profim @ o ¥ ARk a gen

AC & four & so7s afde &), @ & axieR &

* %(3'1‘ I %(3? +6j+2k)

¢l %(3?—6]-312) @ %(3? +6)-2Kk)

UorH n WIhd AT BT THROT B

M p? 4 @) 524
12 12

@ (ns1) @ gp2-
12 8

Udh  mxn URIET GHET & IF—-IJIILE
R R & W e B g R
BISH] B Gl B AMRY —

1) m+n—1 IR

2 m+n-19 &H
BG) m+n+1d aqaE

@ m+n+ 13 3w



52.

53.

54.

585.

v o
f(x) =—2m,x¢0 is
2x +tan” x

If the function

continuous at each point of its domain, then the
value of f(0) is:
a 2

3 2 1
3
The differential equation of system of concentric

circles with centre (1, 2) is -

M dy
=2)+{y-1)—=0

(x=2)+(y-1) T

(2)

(x-—l)+

—_—

dy
=2)—==0
y )dx

3)

(x-1)

+(y-2)=0

4
D x+2)

+ (y-l) 0

e =|le

Correlation among topics to the same branch of

Mathematics is known as ........ ?
(1) Co — Lateral Correlation
(2) Multi — Lateral Correlation
(3 Uni — Lateral Correlation

(4) .Semi — Lateral Correlation

The locus of a point whose difference of distance
from points (3,0) and (- 3, 0) is 4, is :

(1) x2 yz i 2 x2 yz i
4 5 5 4
3 x2 yz _a @ x2 yz .
3 & 3 2

52.

53.

55.
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afe b f{x)=2-ﬁil"_lx_”0 I U B

2x +tan"'x’
A% favg W Aad &, o1 f(0) &1 7+ 8
1 2 ) 1
3
3) (CO NN

2 "
3

Wb o, et a5 (1,2) %, & g
& fog sradper TR & —

) dy
. | P S
(X )"'(y ) I

) dy
—1)+{y-2)—=0
(-+-2)2

@) dy
I ()=
(x )dx+(y )

4

(x+2):—i-+ (y-l] 0

. TG B B Tp & I & s gl

b HEY HeWEw Pl &
?

) gHuIRdes wewdy

@) g UIRds wedea

@) Vb wRded wEwde

@ onf TRdes wewddy

S9 fag @1 fag ey @ dIRw Ra <
favgail (3,0) @ (-3,0) & T T <R 4 B |

M x*.y_, N
4 5 5 4
@ x* ¥y _, @ o 5
3 3 3 2



56.

57.

58.

59.

02‘:&’

The sum of infinite series —

22 32 2 _
l+—+—+— 4. w018
21 31 41
1) o 2) e
3) 2e ) ]
l+-

If A and B are square matrices of order 3 such that
| A|=-1,|B|=3then |3AB |is equal to —

a1 -9 (2) -8l

3 -27 4) 81

According to the utilitarian view of Mathematics,
which of the following statement is not correct —

(1) Mathematics is a tool for problem solving.

(2) Mathematics provides ways to model real
life situations.

(3) Learning how to do Mathematics is more
importélnt than understanding underlying
principles.

(4) It is more important to learn underlying
principles than learning how to do
Mathematics.

Match list — I with list — II and select the correct
answer —

List — I

A. A square matrix such that A> = A
B. A square matrix such that A™ =0
C. A square matrix such that A* = 1
D. A square matrix such that AT = A
List - 11 '

1. Nilpotent matrix

2. Involutory matrix

3. Symmetric matrix

4. Idempotent matrix

(1) A-1,B-3,C-2,D-4 () A-3,B-4,C-2,D-1
3) A-4,B-3,C-2,D-1 4) A-4,B-1,C-2,D-3

57.

58.

59.
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2 2 2
1+'2 +§— =R o BT YT B —
21 31 4!
1) « 2) e
3) 2e “@ 1
1+—
[

gfe A 91 B, 3 x 3 & a7 HfgRT 59 UPR
5, |A|=-1,|B|=3dr | 3AB | &1 919 81T —

a -9 2) -8l

3) -27 4) 81

TG & SEEREE gfedr @ agaR
fr=ifed & | I A1 HAT TGB! Tl 8?

(1) TIFT TFRAT AT BT U QUSRI B |

@) T arafae Sfiad @1 aRRefoi &
Afect U Bl & |

@) afrfa Rgldal &1 w9e@ @ aod 98
Hier sareT Heayet ® 6 e we
gcl BN |

@) TR U B B B I Ui Bl qeld
Hrer =Y |

fore—1 @1 fore—11 9§ fiem o= 98 IR

gfT —

foe —1

A. Us 97 aegE s form A=A

B. ts a1 snee s fog A™ =0

C. va qif anregg Rmre forg A2 =1

D. & 97 anege foras fog AT=A

fere —11

1. fearce anmegE

2. SRR IE

3. FEfd e

4. IMsfemIcT e

(1) A-1,B-3,C-2,D-4 (@) A-3,B-4,C-2,D-1

(3) A-4,B-3,C-2,D-1 (4) A-4,B-1,C-2,D-3




60.

61.

62.

63.

64.

65.

OZE’J

If a square matrix A is such

AAT=1=ATA, then | A | is equal to —
M 0 2) +1

3) +2 (4) None of these

that

For the following LPP —

Max. Z=-0.1 x; +0.5x»

s. . 2x) + 5x2 < 80

X1 +x2<20

X1, X2 >0

to get the optimum solution, the values of xi, x2
are —

1 (20,0) (2) [2 @]
373
(3) (0,16) (4) None of these

The length of the common chord of the circles
X2+y2+2x+3y+1=0and x* +y* +4x +3y +
2=0is:

m 9 @ 40
2
S NF) S
2

The curve f(x) = 3x* — 2x* = 6 x*> + 6x + 1 has

maxima at the point —

a1 x=1 2 x=-1
3) 1 @ x=0
X=—
2

If roots of equation (a — b) x> +(c—a) x+(b-c)
=0 are equal, then a, b, c are in :
(1) AP (2) HP

3) GP (4) None of these

2.4+ 33t g divisible by: (for all n € N)
1) 2 2) 9
3 3 @ 11

60.

61.

62.

63.

64,

65.
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up a WP A T OUBR @ & (&
AAT=1= ATA dr | A | BT 9 BRI —
m o 2) +1
3) +2 @) 3 | BIS Tl
4 &g WRad drmET wER LPP -
afrpad Z=—-0.1x; +0.5x2
ufda=r 2x; + 5x2 < 80
X1+ X2 <20
X1, X2>0
SETH B ST B @ Y X1 9 Xo @ AM BFT —
(1 (20, 0) (2) [@ _4_12)

358

@) (0,16) @ TTH | BIg @

AT +yY+2x+3y+1 =01
X2+y +4x +3y+2=0% 7 SHAMS
ST &1 TS ®

™ 9 @ 5/
2
@ 32 @ 3
2

b f(x) = 3x* - 2x°> - 6 X2 + 6x + 1 BT IfA<
BRI —

M x=1w
A3) 1

X=— W
2

e TR (a—b) x* +(c—a)x +(b-¢) =
0@ el FHF 8 dl, a, b, ¢ =1 2ol 7 i
(1) AP (2 HP

3) GP @ 399 | PIg T8I
2.4 4+ 330 e F 9 fhe goiaar o
2?2 (neN)
1 2

3 3

2 x=-1wW
4 x=0wW

@ 9
@ 11



66.

67.

68.

69,

70.

71.

02\:&’

Which one of the following should not be a

personality trait of Mathematics teacher?
(1) Patience

(2) Scientific Outlook

(3) Stress on Cramming

(4) Command on Mathematics Subject

If nCr = I"'(L‘I__land nPr = nPr , then the value

+1
ofnis:
1 3 2 4
3 2 @ 5

If n is even, then the middle term in the expansion

1 n
of [xz + —J is 924 x®. Find the value of n —
X

1) 10
3) 14

2) 12

(4) None of these

Which one of the following is considered as
highest level sub-domain of cognitive domain of

Bloom’s Taxonomy of Educational objectives?
(1) Knowledge (2) Comprehension /
Understanding

(3) Application (4) Evaluation

Out of the following which is not an example
of Visual aids —

(2) Models

(4) Radio

(1) Real objects
(3) Pictures

The idea ‘Effective learning can only take

place in a social context’ reflects the views of

(2) J. B. Watson
(4) Lev Vygotsky

(1) Jean Piaget
(3) J. Bruner

66.

67.

68.

69.

70.

71
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fforRaa # &1 si=ar 1 R o o
81 B @Ry —

(1) R

@) A= gfteamir

() e R gd <A drell

@ TforT fawg wR e rR

afe "¢ ="c_ wd "p ="p  E, T n
| B

1) 3 2) 4

@) 2 @ 5

Ife n TH | G=AT ' qAl [x2+i]$ﬁﬁﬂ

H Heg BT ug 924 xO B, I n BT HE BT —

M 10 @ 12

3 14 @ T | PSR
Fr=faRed # & s <@ &R Usd Afdrs
SRl & BV B AFHAS Y& B qared
SUE AT AT 27

) =™ @) qwr

3 IR @ oD

fFrafafed # @ @Rl g wml &
SESURG R

(1) s 9% 2) yfsy

@) TER /o @ e

T8 faar f& wdl «iftrm e arfore
dedt # B W9a 2, U8 gfedivn siferad
HT & —

(1) S @ISl &1
G . FTR Bl

(2) <. 9. dicgqd &1

@) forg gD &1



72,

73.

74.

18;

76.

o2 B

Out of 8 Americans and 5 Indians, in how many
ways a committee of 6 members can be formed if

it should have at least 3 Indians?
(1) 560 (2) 708

(3) 140 (4) None of these

The centre of a regular polygon of n sides is
located at the point z= 0 and one of its vertex z;
is known. If z, be the vertex adjacent to z,, then
Z, is equal to :

1 2n . 21\ (@) n T
z) cos— =+ isin — ?‘l cos—= 1sin —

n ; I n n

3) ( L J (4) None of these

) cos— 18N —
2n 2n

If the curve y:aJ; +bx passes through the

point (1, 2) and the area bounded by the curve, line

x =4 and x — axis is 8 sq. unit, then :

(1) a=3,b=-1 () a=3,b=1

3 a=-3,b=1 @4 a=-3,b=-1

If x = A cos 4t + B sin 4t, then (:f is equal to —
t

1 —16x (2) 16x

3) x 4) -x

A triangle with vertices (4, 0); (= 1, - 1) and (3, 5)
is :

(1) 1isosceles and right angled

(2) isosceles but not right angled

(3) right angled but not isosceies

(4) neither right angled nor isosceles

72.

73.

74.

5.

76.
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8 SMR@! AT 5 AR A 6 W DI FART
e YHR | 9918 AT AHhl & odid IAH HH
d HY 3 IR BI?
(1) 560 (2) 708

@ 3T A BIS TEI
U T n oIRil 9Tl 98 & as 6 z
=0 WR g dAT 39 b MY z, &1 A9 A0 2|
fe z,,2z, & A W B, A 2, BT AN B

(1) 2, .. 2y () m,.. T
Z) cos— £ 1sin — ZI cos—= 1sin —

(3) 140

n n n n

(&) [ T n) @) 37 9§ BIg Tl
z cos— =+ 181N —

2n 2n

e 9B y=aJx +bx , A5 (1,2) | T[oRaT 8
AT gsh, YW@ x =4 U4 x — 3787 ¥ foRT 821 &5l
8 aif g1g &, o
(1) a=3,b=-1
B) a=-3,b=1

(2 a=3,b=1
4 a=-3,b=-1

AfE x=A cos 4t+B sin 4t 81, T ‘3];: BT AT &—
t

M) —16x @ 16x

@ x

v B e @ 4, 0), (- 1, - 1) @
(3,5)%, A 98 ® :

(1) &I g FAfgarg

@) HHfEdg W AHBI TE

(3) FEPT W FHGATg TE

(4) T A GHBIT SR AT & FHiEEg

3) x



1%

78.

79.

80.

81.

02%'

The n'

term of the series
£+13+33+13+3-‘+5-‘+ ...... will be:
1 1+3 1+3+5
M’y (2) n’- 2n
9 2n+1
3 3n®+1 4 2n*-1
n+1

If b%, a2, c? are in AP thena + b, b + ¢, ¢ + a will
be in :

(1) AP
3) HP

2) GP
(4) None of these

A stone dropped from a certain height can reach
the ground in 5 seconds. If the stone is stopped
after 3 seconds of its fall, then allowed to fall
again, then the time taken by the stone to reach the
ground for the remaining distance is —

(1) 2sec (2) 3 sec
3) 4 sec (4) None of these

The mean and variance of a binomial distribution
are 8 and 4 respectively, then p(x = 1) is equal to

® 1 2) 1
2" 7
3 1 @ 1
> >
Ifa=cos a+1isina, b=cosB+isinfp,
c =cos y +isin 7 and E+E+i:] then
c a b

[cos (B- v )+ cos(y - ) + cos(a - B)] is equal to

™ 3 @ -3
2 2
3 0 @ 1

77.

78.

79.

80.

Srofy ,li+13+3j+]3+33+53+ ...... & n & T
1 143 1+3+5

BT :

(M n’+1 (2) n*-2n
9 2n+1

3) 3n*+1 @ 2n*-1
n+l

afy b2, a%, ¢ GAETR S (AP)H B, @l
a+b,b+c,c+a = SO 7 &N

(1) AP 2 GP

(3) HP @) 3TH | PIg TE
Ud TeeR @ fhet Ff¥ed SaE | fIRF ) I8
SHE W 5 Apvs H Ugadr B AR UeR @
iR & 3 AHve dg S e foram oy R
T AR Rar oy o 99 g8 @ T B |
I fopar g FTT?

(1) 2 IHvs (2) 3 APvS
3) 4 dovs @) T O B T

Ue fgug ded @ Ay 3R UERVN HHY 8 T 4
%,?I‘lp(}(:l)%‘fﬂﬁ?l“ﬂ—-

S (L) 2 1
7 >

3 1 @ 1
d >

81.
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IfE a=cos o +isina, b=cos B +isinp,

=cos y +isin y AT E+£+3=1 I, dl
c a

[cos (B- v)+cos (y -a)+cos (a-P)] T
ISR

™ 3 @ -3
2 2
3 0 @ 1



82.

83.

84.

85.

86.

87.

OZE"

The angle between the straight lines’
x+1_y-2_z+43 i x-1 s y+2 _ z-3 <
2 5 4 1 2 -3
(1) 45° (2) 30°
) 60° 4 90°-
2 2
=t L L fhen thevalie ot & 242 2 g
.4 ox?  oy*
equal to —
1 -y (2) X
xz + yz K2 + yZ
3) 2xy @ o
x2 +y?

Out of the following which maxims of Teaching
is comparatively less appropriate while using
Audio — Visual Aids in Teaching of

Mathematics —

(1) Multisensory Experience

(2) From Simple to Complex

(3) From Known to Unknown

(4) From Indefinite to Definite.

Who was the propounder of Unit Approach?
(2) B. S. Bloom

@) Ziller

(1) Jerome Bruner
(3) H. C. Morrison
The centroid of a triangle is (2, 7) and two of its

vertices are (4, 8) and (- 2, 6). Then third vertex
is:

M (0,0)
@) (7,4)

@ 4,7
@ (7,7)
How many words can be formed with the letters

of the word “POSTMAN?”, if every word begins
with P and ends with N?

1 720
3 120

(2) 5040
4 4320

82 wmer il

83.

84.

85.

86.

87.
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X+1 _y-2 z+3

<=AT
2 S 4
i o M BT 6 4
| 2 -3
(1) 45¢° 2) 30°
3) 60° “) 90°
1y o’z 0’z
I z=tan™ L B, A —5 +—— B qH
X aXZ ayz
B —
(1) -y (2) X
x2+y2 X'l+y2
3  2xy “@ o
x? +y?

T R 3§ s — g wEe aHdl @
SUANT & SR BT Reror 3@ s
gfte & T Suga &® —

(1) 9gHIdl 3g9d

2) e | Bfea @ 3R

(3) ST ¥ IME Bl AR

@ fRR=a @ A= @ iR

ghle SUNTH & Ydad DI 27

(1) SRE TR @ 9. va. <A

3) Ty A AR @ Ryer

Ud Bt &1 deed (2, 7) 991 g9 a1 9y (4,
8) 3R (- 2, 6) &, a1 Brgst &1 =y < g
1) (0,0) 2 4,7)

3 (7,4 @ (7,7

“POSTMAN” ez & 31eRT 9 fobas greg 910
ST Habd €, afe UAP g P A URWT B LA
N 9 @H BI?

(1 720
3 120

(2) 5040
4 4320



88.

90.

91.

92.

UZE’

_ @) log G) $q. unit

89.

The area bounded by y = logx, x — axis and

ordinates x=1,x=21is:
O %(logZ)z sq. unit 2) log (S) sq. unit

(4) log 4 sq. unit

; I I Al 1
Given that P(A)=—, P(B)=—, P| — [=—then
3 4 B

6

B .
the probability P ;\- is equal to :

a1 2) 3
4 4
3) 1 (4) None of these
8
0 0 1
If A=lo 1 ofthen A'is—
10 0
1 —A 2) A
3) 1 4 0

When 3* is divided by 19, the remainder is :
m 3 2) 7
3 5 4 17

The method for determination of a root of a non —
linear equation which uses two initial guess roots
but does not require that they must bracket the

root, is?

(1) Bisection method

(2) Regula — falsi method
(3) Secant method

(4) Newton — Raphson method

88.

89.

90.

91.

80,
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y = logx, X - 3181 20T x = I,x=2?§rf§R’T§3ﬂ
SFH BRI :

m %(lcrgZ)2 it garg @ log G) @i garg
@ Jog (i) aif gprg D log 4 @ garg

fear P(A)zl, P(B):%, P[ﬂ]=l al

3 B) 6
B
mﬁwp[zjs‘wﬂr
m 1 @ 3
4 4
3 1 @) 3 g BIg TG
8
0 0 1
e A=lo 1 olTATE -
1 0 0
1 —A 2) A
3 1 “@ 0

3% BT 19 | HFT < UR 9Bl &8I :
1) 3 2 7

3) 5 4) 17

RFGH TSRO & Hol AT BIA BT DI WAl
A & s g% # a1 a9 uged g
g Qb ol 781 b arafds qot 39 AFF @
e Rerd @17

(1) wHfgHTe A

(2) Vel —Bred fafd

@) e fafy

@) e — Y= fafy



93.

94.

95.

96.

97.

02‘%7

Out of the following statements, which one is not

the General objective of Teaching of Mathematics

at Primary level?

(1) Develops an interest in Mathematics so that
he gets ready to study it by keen efforts.

(2) Develops ability to solve problems of
daily life of various professions.

(3) Gets a chance to enter the world of
Mathematics with pleasure

(4) Learn to calculate quickly with clarity.

If log,x +log,y =6 then the least value of (x +y)

is :

1 4 2) 9
3) 32 “@ 16
The directional derivative of l in the direction of
r
T is
1M 1 2) 3 1
I,Z rZ
3) L C)] B _ii_
" r?
If tana= ;(m=#-1)and
m+1
tanp = ! ;[m¢_l)thenu+ﬁis equal to:
2m+1 2
1 = 2) =
4 3
G = (4) None of these
6

For any real numbers x and y, we write x Ry <=>
x> —y> ++/3is an irrational number. Then the
relation R is :
(1) reflexive (2) symmetric

(3) Transitive (49) None of these

93.

94.
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frfeRad § @ B9 FUE U 'R W

g R &1 Sewd @l 87

) T § of Refia e e 98 e
Tl 39 UgH @ forg JAR Bl W |

@) <had B fafs gl | wwafa aEemRi
& FHRE @) draar Qe 8 9@ |

@) TR @ g W gl W WA BRA BT AT
I PR D |

@) <fredr vd gEar § T FRAT ARG D |

afq log,x +log,y =6 gl, ar (x +y) DT AdH
HE BT
1M 4

3 32

2) 9
4 16

afesr 7 aﬁﬁwﬁ%zﬁrﬁwm
BT —

n _1_ () .
2 )
3) 1 “) T
P =l
?Jﬁ't:;muz " ((m#-1)Td
m+1
tanp = : ;[m#-l]aﬂ+ﬁmqﬁ%1
m+1 2
a ki 2) ™
< 3
G = @) 99 | DIy TE
6

2] arafde Gl x 71 y & fog &4 fad
F XRy<=> x>—y?*++/3 & JURHT A&
21 o "= R 2 e
1) [g

(3) WhHG

@) afd
@) TTH O BIS Tl



98.

99.

100.

101.

02‘%"

A function f from the set of natural numbers to

integers is defined by:

when n is odd

f(n) = 2n
- E when n is even

then function is:

(1) one — one but not onto

(2) onto but not one — one
(3) one — one and onto both

(4) neither one — one nor onto

Which one of the following is not a principle of
Linear Programming?

(1) Principle of small steps
(2) Principle of immediate feedback
(3) Principle of slow pacing

(4) Principle of active responding

If yz\/sinx+\[sinx+\/sinx+ ....... @ then %is
equal to :
(M cosx (2 -cosx
2y -1 2y -1
) sinx ) -sin x
1-2y 1-2y
If the angle © between the line
1 -1 -2
I T and the plane
1 2 2
2x—y+ﬁ z+4=0 is such thatsin Bz%.
The value of A is —
m 4 2) 3
3 4
3 3 @ 5
5 3

98.
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yipd SRl & ey ¥ gl qeanl @ oy
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e Sfd N OH g gl
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(1) THPH! UR sIadh A8
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(3) UdSI T AETEH Il

(4) I AT Ybd) AT Bl Iriad

frafaRaas & @ wFar WEa s iHd
e &1 g T8 87

(1) &Y ug &l Rigrd

(2) TehTa ufagfe @1 Rigrd

@) & 1fa @1 Rigre

@ wfpa i &1 Rigra

.—__Il_-::‘_'::_ e —
afe yz\f SINX +/SiNX + VSINX +......co &, @l
‘.j.HY_ T HE B ¢
dx
(M cosx () -cosx
2y-1 2y-1
G sinx @ _gin x
-2y 1-2y
< Bl y®l z-2
gfe el x@n == [T

F

2x-y+Vhz+4=0 B HA DIV 6 39 UHR 2

b sin9=%,?ﬁ A &1 HIF Bl

M 4 @ 3
. 2
3 3 @ s
s 3



102. Which of the following formula is the Simpson’s ~ 102. =1 # & P A AEHG  FHIhA I

8

(h)

(2)

(3)

(4)

3 th rule for numerical integration? Rygas &7 3 df s s 87
8

[nydx =2 (o + ya) + 301 + Y2 +¥a +¥s +y7 + Vo) ¥
Jolydx = {0 +n) +301 +2 +¥at Y5+ +Yno) + 2073 + Y6 o+ Yn-2)]

f:u" ydx = %{(@) +3(y1+y2+ -+ Yn-1) +2(ya +ys + -+ yn_s)}

.[}:‘ ydx = %E{(YL?'E) +3(y, 4y + - FYn-2) +2(@s+tys+ -t Yn—B)}

X

103. o Goivjek, b=2i-dk, c=iedj+3kare 'O AR A=i+jek, b=2i-dk, c=i+nj+3k T
coplanar, then the value of A is : & waae A Rerg & @ A BT =7 BN
- @ 3 M s @ 3
9.2 @ 2 @ 7 @ s

3 3 5 5

104, ifﬁ=(5+1+ﬁ),ﬁ b=1 and ax5=j-f< then* b 1Y afg 5=(§+j+ﬁ), a.b=1 g ﬁxﬁzj_ﬁfﬁ
s b 1 A B
M 354+k 2) - s & L& w0 W R

i-j+k 2i-lg W 5Lk @ 5 i
3 4 s
B 1 @ 2 @ i @ 9

105. Out of the following which one is not the 105. F=feiRae & & HF1 U IRUMERY WIford

statement of motivational teacher of AT BT HAH 8l 82—

Mathematics —

(1) I want to turn children on Mathematics in

(1) F fenfoial o i @Y 3R ArsHT wEd
g S aE 9 o H |

the same way, that I am.

(2) 1 love Mathematics and yet it has such a

@ # T | g Ear g, Jaf 39 gfd

o ST SFEvTed Ui § 99 daad | § 7eg
negative image. I want to help change that 2
o HRAT ATE & |
image.
(3) You could not easy with Maths. ®) g1 T @ rer el A T WE
(4) [ want to show children that Mathematics W |
is a fascinating subject. @ ¥ el o g e @wa § @

02 B>

g ve feeey fawy 2
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106.

107.

108.

109.

110.

OZR"

The distance travelled s (in cm) by a particle in t
seconds is given by s = t* + 2t + t. The speed of
the particle after 1 second will be :

1) 8cm/s 2) 6cm/s
3) 2cm/s (4) None of these

X ;if x is rational _
, then which of

If f(x) ={

the following statement is true :

- x ;if x is irrational

(1) f(x) is an odd function
f(x) is continuous at x =%

(3) f(x) is continuous at x =0

4) f(x) is a periodic function

If lines*~!_¥-2_2z-3 apd x-1_

3 2k 2 3k

are

y-5_z-6
1 -5

mutually perpendicular, then k is equal to —
(1) =10 (2) 7
7 10
3 -10 @ -7
A kite is flying at an inclination of 60° with the
horizontal plane. If the length of the thread is

120m, then the height of the kite from the
horizontal plane is :

3) 60 m (4) 120 m
\/5 .
Under which condition a straight line
A T is parallel to the
4 m n
xy — plane?
1 =0 2) m=0
3) n=0 @ /=0,m=0

106.

107.

108.

109.

110.
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s=t 420+t dl 1 ABvS B UYE SHST A

grf:

(1M 8|#H. /3. 2 6u#. /.

G 29#H. /9. @ TH 9 P T8

e =' x;ﬂfﬁ'xqﬁﬁ'ﬂ% ,Eﬁﬁﬁlﬁ?ﬂ
) {-x;uﬁxwﬁﬁﬂ?

P 9T BT 9 © ¢

(M f(x) & 97 waq

@ f(x)ﬁlﬁ x=%tﬁ’ﬂﬂﬁ%

3 f(x)fdg x=0 W |ad &

@ f(x)3mad! Berd &

afe @y x-1_y-2_z-3 qo x-1_y-5_2-6
3 Bk 2 3k 1 -5
UREUR THaq &, df k BT A 8N —
M 10 @ 7
EA 10
3) 10 @ -7

UH U AfS a1 | 60° B ST B W IS
e 8| afe g B SR B THEE 120 Hiew 8,

M 6043 v @) 60 Aex

3 60 N @ 120 A=
V3

fra gRRfkerfer H RSRG] @r

2720 Y Yo 272 yywwme @
¢ m n

AR 81fY?

1 (=0 2) m=0

3) n=0 @ /=0,m=0



111.

112,

113.

114.

115.

116.

02%’

Which of the following methods is commonly
used to solve assignment problems?

(1) Stepping stone method
(2) Hungarian method
(3 North — west corner method

(4) Vogel’s approximation method

Find the length of tangent, drawn from a point
which is at a distance of 5cm from the centre of
the circle of radius 3cm.

(1) 3cm
(3) 2cm

(2) 4cm
(4) None of these

The total number of divisors of number 360 are :
(1 30 2) 24
3) 6 4 12

If fis a bounded function and p* is a refinement
of a partition p then which of the following
statement is true?

M L(f,p*)<L(f p)
@ L(f,px)=L(f p)
(3 U, px)=2U(f,p)
(4) None of these

A particle is projected with a velocity of 49m/sec.
making an angle 60° with the horizontal. Its time
of flight is given by -

M 1043 sec
(3) ‘\/ESGC

@ 5\/5 sec
(4) None of these

JV2 3
~ +

The series +
22 +1 3% +1 4% +1

(1) Convergent (2) Divergent

() Oscillatory (4) None of these

111.

112,

113.

114.

115.

116.
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e § 9 B | e @ By A Faa
AT BT & B B foIg TP il 87
() wfir we

@ giRkga fafr

() SR — ulEm SR A

@) anre AT fafer

3 Q). Browr gl 99 P = A 5 AHL B
R Rera f6dl farg & 9o W STelt 18 WY v
P TS BN ¢

1 3. @ 4.

@) 234 @) T A BIY T
HET 360 B WISTHT B HA AT 2

1) 30 @) 24

3) 6 @ 12

afe fys IReg Her § 3R p, pd fauoi
®1 Uh Rorgric & o = § 9§ &9 @
FAT A 87

M L (f,p*) <L (£, p)

@ L(f, px) =L (f, p)

(3 UEpx)=U(f,p)

@) g8 q Pig TRl

e fie &1 afast 9 60° @ @IV IR 49 m/sec.
@ Ay F B | g fis fhaa wHy d@
gar § BI?

@ 5'\/3 sec

) IOﬁsec
3) \Esec @) T | BE T
1 J2 V3 Fs
- +— + + s
9241 Pl " 4l
(1) IFAERT (2) ITART
(3) T @) TH | BIg T8l



117.

118.

119.

120.

02&'

% o .
Value of Iﬂ _[0 cos(x+y)dx dy is-

(1 -2 @ 2

3 0 @ 4

Five pbints given by A, B, C, D, E are in a plane.
Three forces AC , AD and AE act at A and three

forces CB, DB, EB act at B. Then their resultant

force is :
D »Ac @ 3AB
3) 3_D§ ) ZB—C

To a man running at a speed of 20 km/h, the rain
drops appears to be falling at an angle of 30° with
the vertical. If the rain drops are actually falling

vertically downwards, their velocity in km/h is —

@ 1043

3 2043

2 10

@ 40

If @, B, y are the cube roots of any number
p(p < 0), then for any three numbers X, 9

xao+ yp +zy

is equal to :
XB+ yy + zo

M 1 . 2) 1 .
5(-I+1J§) E(I-H\/g)

(4) None of these

@) %(1—i\/§)

117.

118.

119.
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L:g J.:cos(x+y)dx dy &7 9197 & —

1 -2 2 2

3 0 4 4
W g A, B, C, D, E U& wiael § Red §|
@9 76 AC, AD 9 AE g A R o714 % @
€ a1 19 a9 CB, DB, B g B W ®rikd
g, A g9%1 aRvT g B

(1) 2AC (2) 3A_B.
3) 31DB 4) 2BC

Ud 20 fBAL wfd = & S aral @fag & farg
a9 BT 42 FEaR F 30° BT R AR g TR
3 ¥l €| Af auf 9 G2 avag § Tk 9
B AR R <& &, O s 1R frenies ufly
g F grft -
M 103

® 203

afs o, B, vy fa=fl = p (p < 0) & w1 &,

2 10

4 40

ot fdt T wemal x, y, 2@ forg XetyBzy

XP+ yy + za
BT AT BT :
i l(—1+i\/§) o —l-(l+i\/§)
2 2
3) %(14\/3) @ T A P T



121.

122,

123.

124.

125.

OZE’/

Green’s theorem is used to -
(1) transform the line integral in xy — plane to a

surface integral on the same xy — plane.

) transform double integrals into triple

integral in a region v.

(3) transform surface integral into line

integral.

(4) None of these

A particle is thrown vertically upward with a
velocity of 490 cm/s. It will return to this position
after —

1) 1 sec (2) 0.5sec
3) 2sec (4) 4sec
Ifa+ b + ¢ = 0 then the roots of the equation

d4ax>+3bx +2c=0are(a,b,c € R)
(1) Real (2) Equal

(3) Imaginary (4) None of these

Two circles touch each other internally. Their
radii are 2 cm and 3 cm. The biggest chord of
outer circle which is outside the inner circle is of
length :

M 2& cm @ 3\/5 cm
® 4\/5 cm @) 5\/5 cm

Out of the following, which one does not express
the view of pure mathematicians regarding
mathematics —

(1) It is based on objective facts

(2) It is a study of logic

(3) It is a system of rigour, purity and beauty
(4) It is a tool for solving problems

121.
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123.

124.
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B D (U |
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S—<rEeE # gRafda &= & feg|
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yRafdd & @ e |

@) T A PIg el

T fiie @7 SeaRR HUX BT AR 490 cm/s B AT

J BT TAT| TE A I SR R b dHa
qwETd 31 SITeT?

Eal

1) 1 Fpvs () 05 AHTS
(3) 2 APTS @) 4 HvS
I a+b+c=078l Al FHDHIT

4ax® +3bx +2c=0d T &1 (a,b,c € R):

(1) grafa®d (2) TR
@) Prafd - {4)s=ﬁﬁaﬁ§a-a
a‘rﬁﬁmﬁﬁwﬁmzzﬁﬁaaﬁﬁ.%‘.

IRES ©U A Th GEN DI WY PR &, dl
gaR® g W 9}, 9@l ga bl Sfar @l
iftyepas oaTS B

W 27 a4 @ 3/ aH.

® 42 ¥ @ 52w
fr=foRaa § ¥ BT YEaral s @
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(1) T8 U@ agS qedl o) SR € |
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126.

127.

128.

129,

130.

131.

02 B>

Two forces P and Q have a resultant R. IfPis
increased, the new resultant bisects the angle
between R and P. Then increase in P is —

(1 p @ 2p
3 Q @ R

If cos™ x + cos™ y+ cos” z= 7t then :
D x2+y*=2

@) X*+y*+22=0

@) x*+y* +22=1-2xyz

(4) None of these

?}'=yzi+3xzf+zﬁ,thenCurlﬁis:-
D 3xi-yje2zk @ _fxivyjeazi)

() _3xi+yj+22k @ None of these

The length of three medians of a triangle are 9 cm,
12 emand 15 cm. Then the area of triangle is :

(1) 24 cm? (2) 72 cm?
(3) 48 cm? 4 144 cm’

Find the distance between two parallel chords of
lengths 24 cm and 32 cm if radius of the circle is
20 cm.

(1)
3) 5cm

(2) 28 or4 cm

@ 16or12cm

10 cm

Which one of the following is an Autocratic
Teaching strategy of Teaching Mathematics?

(1) Problem Solving Strategy
(2) Lecture Strategy

() Heuristic Strategy

(4) Group Discussion Strategy

126.

127,
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129,

130.

131.
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X cos' x + cos y+ cos z = &L, @Y

1) x*+y*=z2

@ xX*+y+22=0

@) X +y +22=1-2xyz

@ T ¥ PS T

e B =yzi+3xzj+2k B, A Curl BT
M 3xi-yj+azk @ _Bxi+yjr2zk)
() 3xi+yjr2zk @ T A BE A
S B @ i wlirae 9 oward w9
WAL 12 WAL @ 15 A § [ERSIC
8P B

(D) 24 3= FA. @) 72 @t ¥,

) 48 T A, @ 144 T 94

UF ga et B 20 9L 2 9 & gurR
Sitareit et ars mae: 24 9. 9 22 9L
& ® 99 B 0 e AR

) 10 |, (2) 28 ar 4 WA

(3) 5[ @) 16 a1 12 9.
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132.

133.

. The equation of

[f 2.5 is the initial root of the equation
x* - x — 10 = 0 then by method of Newton —
Raphson, the next approx root will be equal to -

(1 2.3089 (2) 2.5395
3) 2.6760 “4) 2.6657
The wunit vector normal to the surface

x’y + 27x = 4 at the point (2, — 2,3)i8—

( 1¢: ~ (2)

i 2k a2k

= O Livi-k)

l (i- 23+ 2k)
the

straight line through

intersection of the lines X —2y =1 and x +3y =2
and parallel 1o 3x + 2y = 01is :

1 Ix+2y+5=0 (2) 23
’ 3x+2y+--g-=0

(3)

3 (4)
I+ 2y—

=~ =0

| b

3x+2y+z§=:(}
10

h

. Lety = f(x) be the function for which f(1) = 14,

f(2) =12, f(5) = 6 and {(8) = 21, then f(7) is -
n 2 @ 12
3) -8 (4) None of these

. Which one of the following is the first step of

Morrison’s Unit Approach?

(1) Presentation (2) Assimilation

(3) Organisation (4) Exploration

137. The equation of the plane passing through(2, 3,4)

02&7

and parallel to the plane 5x — 6y +Tz2=318—
(1) 5x—-6y+7z+20=0

(2) 5x -6y +7z-20 =0

@) -Sx+6y-T7z+3=0

4) Sx+6y+7z+3=0

132.

133,

136.

137.

Page 28 of 32

afe TR X —x — 10 = 0 FT URMAE o 25
21 dl <A — YT B Bife | 3T A
ol B -

(1 2.3089 2) 2.5395

(3) 2.6760 4) 2.6657

THAd Ky + 2zx =4 & TEaq 95 (2,-2.3)
W SHIE AR & —

@ 1(505+2k) -%(i+2j+2f<)
J

@ L-2e2k) L pi+3-K)

. GRel T BT FHBRT G Rl X - 2y = 1 @

x +3y =2 uRread ¥ TR 8 e @ 3x
+2y=0$wmf—rr\’%‘*,aﬂwﬁmws’ﬂﬂ;

1) 3x+2y+5=0 2
() 2 i @ 3x+2y+—2§§=0

3 23

4
3x+2y-——5—=0 e

23
3x+2y+—=0
10

LAy = fi(x) BIS B © s fog f(1) = 14,

f2) = 12, (5) = 6 Tl f(8) =21 &, T f(7) FT A
g s

m 2 @) 12

3 -8 @) T | B B

Prafaifed § O eiFar ARG §RT 9&d

ST SUNTH B YIH AU 87

(1) IR 2) AT RT

3) TS (4) 3TIYOT /ISl
PRAT

S aAae @1 e, ot R (20 3, 4) W
W%HWWSX—6y+?z=3$W
g, BN —

(1) 5x—6y+7z+20=0

(2) 5x—6y+72-20=0

(3) -5x+6y-T7z+3=0

(4) 5x + 6y + 72 +3=0



138.

139.

140.

141.

142,

02&'

If equation 2x* + 3x + 5A= 0 and x2 + 2x + 3%=0
have a common root then A is equal to:

1 2 2 1

3 0,-1 4 2,-1

Out of the following statements, which one is not
related to Nature of Mathematics?

(1) Mathematics has its own language from
which terms, concept, sign, formula etc

develops.
() Scope of Generalisation in Mathematics
is very limited.
3

@

Mathematics is a Universal Subject.

Predictions are possible on the basis of
conclusion drawn in Mathematics.

The mean of seven numbers is 8. A new number
16 is added. The mean of eight numbers is :

1 12 @ 9
3 8 4) 24

“Sikander attacks on India 327 BC” this example

indicates —

(1) correlation of Mathematics with Life
Sciences

@) Correlation of Mathematics with Social

Studies
(3) Correlation of the different branches of
Mathematics among themselves.
(4) Correlation of Mathematics with Basic
crafts
If the n term of an AP be (2n - 1), then.the sum
of its first n terms will be :
(1 n>-1 ) (2n-1)

3) n? @ n’+1

138.
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e TR 22 4 3x + SA = 0 qur
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al A BT 719 &N

1 2 @) 1

3 0,-1 @ 2,-1

Freifeifaa wortt 4 3 @i it 21 wph
W e T 87

M) TR @Y 3= W BN ¥ Rrad A
¥ U, o, fFe, 99 saf ReRe
B F |

@ R ¥ A T e Wi @

@) TR ArdHife g 2

@ T & AR S ey P W
€ 9% MR W YaiHM 69q 2|

I AT BT AT 8 B | U S WA 16 3

IR S | 3@ aE HeA BT ARy BN
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3 8 @ 24

“Ricp=ex =1 $91 9 327 €. qd wRa W ampHOr

far”, & Sarexvr gufar -

M) 7R &1 i s & a1y wedey

@) T &1 AT fasm @ arer wewey
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RSERIEECH
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143.

144.

145.

146.

147.

02 B

The radius of a cylinder is increasing at the rate of
3m/s and its altitude is decreasing at the rate of
4m/s. The rate of change of volume when radius

is 4m and altitude is 6m is :

(1) 80 m*/s ) 1447 m’/s
(3) 64 m’/s @) 80mm’/s
In a school, out of 50 students, 25 have scooters

and 35 cycles for coming to school. Then the

number of students who have scooter and cycle

both are —
M 15 2) 18
3 10 @) 12
Relation between beta and gamma functions is -
0}
B{in)= (m+n)
(m)[(n)

If §=3xz€+2xy3-yzzl~< then div Vv is —
(1) 3x+2y+2z (2) [2x +3y+2z
) x+2ytz @) 3z+2x-2yz

-1
The equation X =——- 152~
x+1

(1) Linear equation
(2) Non — linear equation
(3) Transcendental equation

(4) None of these

l43.wéﬂ?aﬁﬁtﬁﬂ31ﬁ_/@.ﬂ%'ﬂ?@aﬁ?@§
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S Ao @) Brour 4 WL wd Sarg 6 AL gLl
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(1) 80 &+ #1. /9. () 1447 =9 #. /9.

(3) 64 9 H. /9. ) gom =+ . /.

we fEnerd & 50 B § F whe o @ oY
25$wa§?%ﬁmaszﬁwwgﬁa—a%fﬁ
¥ B @ e e ure Whex 9 argied
T 2, 8-
1 15
3) 10

2 18
@ 12
Sret ud T ol § W g -

(1) ]m+ n)

i)

(m+n)= E(’—“ n)

(m)

(2)

iy ) [
N e

) B(m rm—lm-kn
| O

Gl g

afe v=3xzi+2xyj-yZ k g, @ div v & -
1) 3x+2y+2z (2) 2x +3y+2z

Ot 2y + 2 (4) 3z+2x—2yz

FHBHOT X = e yaR 1 R —

x+
(1) Raw FHIHRT
) RRawm BT
(3) grasTTd WHIHIUT
(4) T 9§ BIg el



148. O is the origin and OP = 3 with direction ratios

149.

150.

02 B>~

-1, 2, -2, then co — ordinates of P are —

(M (1,2,2) @ (-1,2,-2)
3) (-3, 6, -9) )] '_1 2 _2)
L 33" 3
n+l n+l
.k b be the harmonic mean of a and b
a"+b
then value of n is:
{1 1 2) -1
3 0 4 2

If the points (- 2, - 5), (2, - 2) and (8, a) are
collinear, then the value of a is:

i 5 2) s

2

3) )

3
2

t3 | —

Page 31

148.
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Ife O qafawg & @ OP =3 & fRorae Remguma
-1,2,-2 8 @ P & fdwia =y -

M (1,2,2) @ 1,2,
3) (-3,6,-9) @ (_ ) ﬁ)
3'37 3

afe a 7T b BT ERIES g AT D" o
a" +p"

arn @ 919 29

1 1 2) -1

3 0 “@ 2

A g (-2, -5), (2,-2) @0 (8, 2) Ue &R
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